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DATA INTERTRETATION

(LINE GRAPH)

Directions (1 - 4) : Study the following graph to Directions (5) : Study the following graph to an-

answer the question given below: swer the question given below:
v/ifyter 1.k dk Tko/kuniod ve;;u dj] vij uip v/ifyfer 1.k dk Io/tutiod vé;;u dj] vk
fn, x, ¢"uk dk mUkj nA unp fn, x, ¢'uk dk mlkj nA
Emoo Export over the years in Rs. (crore)) Profit earned by a company over the years
g §§§ - (Profit in crore rupees)
& . . 4 .
g %00 2~ __ i fn; x, ok e diuh Hjk vitr yiHe (djiM #1, e)
+ 400
g 300 — — 80
< T T T T T T 1 2 60
1995 1996 1997 Yi:fss 1999 2000 2001 g 50 /\/‘//
. . . 2 a0 =
1. Export in 1997 is approximately what per- ;;: 30, e 1
cent of the export in 1998? & 21’2
1997 e fuskr] 1998 e fuskr dk yxHx fdru 0"1998 "1999" 2000 " 2001 ' 2002 ' 2003 ' 2004 ' 2005
gfr'kr g \ Years
(a) 145 (b) 135 5. In which year is the percent increase in the
(c) 150 (d) 300 profit from that in the previous year the
2. What is difference in exports in 1997 and highest?
1998? fdl o' fiNy o'% dh ryuk e] yiHk e cfrir
1997 rfik 1998 d fuskr eddrd #i, ok vrj g\ of/s vi/dre g\
(a) Rs. 150 Cr. (a) 1998 (b) 2000
(b) Rs. 1500 Cr. (c) 2002 (d) 2004
(c) Rs. 15 Cr. 6. The line graph shows electricity consump-
(d) Rs. 100 Cr. tion (in units) for three households A, B
3. What is the total export (in crore rupees) and C f_or _nfor_1ths February to May. .
in the given years? yikbu xkl_Q ijjojh 1 eb d eghuk d fy, riu %jk
. x. ol &] dy fusle. (s i3 e) D:k o\ Al B Vij c d fy, fotyh dh =ir (bdlibsk e)
dk n"kkrk gh
(a) 4100 (b) 3700 300
95
c) 3900 d) 3950 280
te) . ( : . 260 //\62
4. Which year has the highest per cent in- 240 7
crease/decrease in exports as compared to ggg / 107 —cC
the previous year? 180 o1 // /{
. ' . . 160 54 —B
fdl o'% fu;kr e fiNy o% dh ryuk e cfrr 140 //
of4@deh vi/dre g\ o E— —A
(a) 1997 go—>> ~e—
(b) 1998 oAz
(c) 2001 2:;

February ' March' April May

(d) Can't be determined
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In the given graph, the percentage increase
in electricity consumption of ‘B’ between
March and May is:
fn, x, xki e] ekp vkj eb d chp B’ dh fctyh
=ir e ¢frikr of¥ g

SSC CPO 13 March 2019 (Morning)
(a) 95% (b) 85%
(c) 167.5% (d) 98%
The line graph shows electricity consump-
tion (in units) for three households A, B
and C for months February to May.
yibu @) ijoji 1 eb d eguk d fy, ru %k A] B
Vij ¢ d fy, fctyh dh =ir (bdibzke) dk nlirk gt
300
2e0 o
240 7

220
200

/ v
180 ol Ta 7 100 -
/

160

140 7
120 —— 40 —A

100
55 93
80 84

60 o 68

40

20
0

February ' March  April
In the given graph, the difference between

May

the total electrical consumption between
months of February and April is:
fn, x, xkiQ e] 1jojh vkj vey.d eghuk d.chp
dy fctyh dh =irid chp dk vrj gk

SSC CPO 13 March 2019 (Morning)
(a) 97 (b) 74
(c) 121 (d) 15

Directions (8 - 10): The line graph shows the
temperature on four Sundays of three cities.

jok ki) riu lgjk d pij jfookik ol riielu fnekrk gi
34

32 3T
30

28 —20 28
28 28

24 24.2 26
22 2

20 21.2

18 18.9 18
16
14
12
10

[N
<))

14

N
(<}

ON O\

T T
1st 2nd 3rd 4th
Sunday Sunday Sunday Sunday

——— Mumbai ——— Chennai Delhi

8. In the given line graph, what was the
average temperature on first sunday ?
fn, x, j=k xki( e] igy jfookj dk vklr rkieku
fdruk Fk\
SSC CPO 15 March 2019 (Evening)
(a) 21.2
(b) 24
(c) 25.4
(d) 23
9. In the given line graph, when was the
maximum temperature recorded in
Chennai?
fn, x, ykbu xkil e] plub e vf/dre rkieku
dc nt fd;k x;k Fk\
SSC CPO 15 March 2019 (Evening)
(a) 4th Sunday
(b) 3rd Sunday
(c) 1st Sunday
(d) 2nd Sunday
10. In the given line graph, what is the differ-
ence between the temperature of Delhi and
Chennai on the 3rd Sunday ?
fny X, j=k viy= e] rilj jfookj dk fnYyh wij
plub d rkieku e fdruk vrj g\
SSC CPO 15 March 2019(Evening)
(a) 21 (b) 13
(c) 17 (d) 8
Direction (11 - 13): The line graph shows the
production of product A and B (in thousands)
during the period 2004 to 2009 and the second
line Graph shows the percentage sale of these
products.
fun'k (11 & 13)% ykbu xki) 2004 1 2009 di vof/
d nkjku mikn A vk} B (gtkk €) d mhiknu dk n*rk
g vkj nljh #f0k dk xki) bu miiknk dh fc@h dk ¢frrkr
n"kkrk gh

—&— PRODUCTION OF PRODUCT A(in’000)
—&— PRODUCTION OF PRODUCT B(in’000)

16
14 13 14
12-
104 12
8-
6-
4
2-
0

T T T T T T
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11.

12.

13.

80 75

40 55

2004 2005 ' 2006 2007 ' 2008 2009

In the given line graph, what is the total
sale of Products A and B in the year 2007?
fn, x, ykbu xki{ e] 0" 2007 e mikn A vkj B
di dy fc@h fdruh g\

SSC CPO 16 March 2019 (Evening)
(a) 10290
(b) 13460
(c) 11500
(d) 12490
In the given line graph, what is the total
sale of Product B in the year 2004 and
2008 together?
fn, x, ykbu xki) e] o' 2004 vkj 2008 e mRikn
B di dy fc@h fdrun g\

SSC CPO 16 March 2019 (Evening)
(a) 11950
(b) 12500
(c) 14600
(d) 11825
In the given line graph, what is the total
sale of Product A in the year 2005 and
2009 taken together?
fn, X, ykbu xki{ e] o'k 2005 vkj 2009°e miikn
A dh dy fc@h dk feykdjedy fdruh g\

SSC CPO 16 March 2019 (Evening)
(a) 16400
(b) 14600
(c) 17500
(d) 18500

Directions (14-18):- Answer the questions on the
basis of the information given below:/UIp nh xb

thudkjh d ViZkj i ¢ uk d mlkj nk

The graph given below represents the
production (in tonnes) and sales (in tonnes)
of company A from 2006-2011.

uhp fnsk x;k xki) diun A d 200682011 e mRiknu
(Vu e) vk fc@h (Vu e) dk cfrfuf/fo djrk g

Production and Sales

14.

15.

-8-Production -= Sales

900
800 e

700 N\ .

AN P
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§ 400 7 -

o 300

= 200
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2009 2010 2011

The table given below represents the
respective ratio of the production (in
tonnes) of Company A to the production (in
tonnes) of Company B, and the respective
ratio of the sales (in tonnes) of Company
A to the sales (in tonnes) of Company B.

ulp nh xb rifydk diut"A d miknu (Vu) e]
diut B d miknu (Vu e)™1 Icf/r wvuikr vij
diul.A dh fc@h.(Vu.e)] diuh B di fc@h (Vu
e) 1 Icf/r vuike dk ¢frfuf/fo djrh g A

Years | Production | Sales
2006 5:4 2:3
2007 8:7 11:12
2008 3:4 9:14
2009 11:12 4:5
2010 14:13 10:9
2011 13:14 1:1

What is the approximate percentage
increase in the production of Company A
(in tonnes) from the year 2009 to the
production of Company A (in tonnes) in the
year 2010?

0% 2009 e diuh A d miknu (Vu e) 1 o'
2010 e diuh A d miknu (Vu e) e wvuekfur
cfrikr of% D;k g\

(a) 18 (b) 38

(c) 23 (d) 27

The sales of Company A in the year 2009
was approximately what percent of the
production of Company A in the same
year?

0'k 2009 e diuh A dh fc@h mlh o'k diuh A d
miknu dk yxHx fdruk ¢fr*kr Fio\

(a) 65 (b) 73

(c) 79 (d) 83
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16.

17.

What is the average production of company
B (in tonnes) from the year 2006 to the
year 2011?

0'k 2006 1 o' 2011 rd diuh B dk vkIr miknu
(Vu e) fdruk g\

(a) 574 (b) 649

(c) 675 (d) 593

What is the respective ratio of the total

production (in tonnes) of Company B to the
total sales (in tonnes) of Company B?

diuh B d dy fc@h (Vu e) diuh B d dy
miuknu (Vu e) dk Icf/r wvuikr D;k g\

18.

(a) 81 : 64 (b) 64 : 55
(c) 71 : 81 (d) 81 : 65
What is the respective ratio of production
of Company B (in tonnes) in the year 2006

to production of Company B (in tonnes) in
the year 2008?

0% 2006 e diuh B d miknu (Vu e) dk Icf/
r vuikr 0% 2008 e diuh B dk miknu (Vu e)
I vuikr D;k g\
(a)2:5
(c)3:4

(b)4:5
(d)3:5

|3 (|5 m|7 ©] 9 b

11. (a)

13. (a)| 15. (b)| 17. (d)| 18. (c)

2.

(a)| 4. (@ | 6. (c)]| 8 (b)]| 10. (a)

12. (d)

14. (d)| 16. (c)
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